IR -k 2018/1/27 ek HHE B
Er e AR IR R AT b R 2 ERERA (R T R
s 2 R T A R B AR Rz 4 Falg ke L e
Aft | FEH JETA 2L 3hr 44z 5fr 612 ThE 8L
B33 %) 6.8|IKEr EHE(6) 1.3|RHA B&®6) 7.9 B 234 82|thE EKX(Q) 8.3| R FM(5) 8.5
pesm s | inora | som NET&F F% 6.7 =GR |HHI&BT&F THIT&F INEIT&F HHIETEF HHIBTRF
& RIEG) 7.9 HED R4 8.5
FEUETEF HHIBT&F
iz7a | soom A0 i%(6) 2:37.4(Ik% ZE#(6) 2:395|FHE E4(6) 2:49.0(FTED HEX@4) 2:49.6|;HA EKR(Q) 2:54.9| % #i(5) 3:28.1
INEIT&F GR|#HIBT&F GR| B T&F HIBTEF S TEF FAIBTRF
va2on | [REr Z=|#EG6) 1.40
THIBT&F
iore | £k RIG) 3.16|=F #&AX(®6) 3.11)% #HREG3) 2.26
HHIST&F S TF HHIBT&F
ES EMQ) 6.1 FE HEKQ 6.2 inEE 2AQ) 6.3|EE EL(2) 6.4|Ek BHK(Q2) 6.5
. . FRIE - AR S () =GR #FEA-AQG 77a—XSU 5% AU - 55— BB
et 1A27H 50m
AfE FLKE) 6.1 ML #h(2) 6.2 zm &3 6.5
FAU - IRFE =GR - AN R AT/
1278 | 1500m AFE BEXQ) 4:36.7|&E RAQ) 4429\ KB 1HE(Q2) 4:45.4|/NFE KF(2) 4:459| iR hB(2) 4:480|5%% (1) 4:50.0| FriR 1K) 45111 RE ERQ) 4:53.0
FAU - R - —p AR - 55— FAUR - E=rp - —p - SEA R FAUR - 55— op FAUR - E—rp
g Z2AQ) 6.9|FE XF(3) 71(lhzm B2 16|#HF BHEQ) 17|E%k BEAQ2) 78 FE RKQ 79| =) 8.0
278 | somi 7 Ta—XS5 % =GR|#al5 - E—rh BBt HAUE - gE AN R BB/ FFE- AN T G - B
R IEFQ) 7.8
G- E—rh
B2 BEFEOQ) 1.70]5% hB(2) 1.65iF:82 280 1.50[4FE EAR0) 14538 HRHEQ) 1.45 ER BB 1.40
Jb35 - EEE G - E = Jb3%- B FE Jt3E- B+ Z5-HEKS Jb3E-EEEE
LA208 | Embk WE RED 145
AU - IR
HH EEERA) 1.45
HRIE - M E
Wk 2TOQ 3.80( /Il SREEQ) 340|{E AR #E(2) 3.40|FAIER ERAT(2) 32068 TAK(®Q 3.10|E1L 22 3.00[{FEB BEER(1) 2.70|@+ A1) 2.60
to0n | reEm + BHET-JIfES + BHET-JIfES + BHET- )@@ + BHET-+ HETH pURRERIPRES KT - X P e NI - N P e G- E=rh
&HH —iM2) 2.60
+BEr-)IFEH
S TP K EE() 7.95[/L % h(2) 7.76|#E HEE() 7.61|RTE HEEQ) 7.85/NMII HER(T) 1.47|% hB(2) 7.31[/hFk Fnth(1) 1.25|72 &2 7.25
BB E2NF HAIE - FE AV - E= HAUR - 55 —rp G- E—rp - E= HA - 55 —rp - E
vore | re BTE BEQ) 12.12|% % #K0) 8.88|KE ®F(2) 8.20|FE Eth(1) 8.13|4%H Kih(2) 7.96(m@E K1) 747(ILKR FRAR2) 7.37|£HE EH#Q) 6.77
FAU - 5 —rp A - ERFE HA - $ R AU - FE L AU - #EH Jb3%- B EEh FEG - SEANH FAU-SE =
X %4 6.0|7EAR BREE(2) 6.1|/hith {238 6.2|%EM FEH) 6.3 BE EEQ) 6.4
FHHEX FHBHEX ERIAC HEBEX HBIES
IO K 6.3 Mo Eh(2) 6.4
B — kB | 1H2TAH |  50m RN *ﬁmﬁg‘
i B 6.3 BHF BH®0) 6.4
REAC HETES
& (2 6.3
HBTES
vrore | 1500m ER EXKEM) 4:30.2(/ME BTR(2) 4:58.3|&F (1) 5:07.6( 4 H&E) 5:00.3|iE& 1EAE) 5:16.2|#%&R8 15(1) 5:27.7
LFHHEXR = HBEITES HBTES HBTES HBTES
R BN 7.2 AR HBED 1.3|1%EH FEH) 14| KH R 15| EHE FHQ) 18|l ZUE®Q) 8.0
vizre | somn HBTES NSFTFC EBHEKX THBEEKX MREXME HBRES
miE e 7.2
NSFTFC
i | sk A+ Eﬁ(ﬁ 1.85|@A+f %11(2) 1.65|BELL .5:.'!{(2) 1.60| E+ & —jﬁ-m 1.45
FREXHE mERas it =y HBRes
. Ll #H&/Q) 440|5EH 1E2(2) 4.30|1E/E AT 4.10[/h#h BERR(D) 3.90| A& FER(1) 3.50
1H20R | #@Ebk
REXWE AR = +BEE A HMETES
vhara | v = e e X 8.78| KT &(4) 8.43(%ilE hiE 831|1EK BRE(2) 8.13|K#E BEAQD) 8.12|M& &E®) 8.08| A EMQ2) 7.74|F0E  FH(1) 7.60
NSFTFC FHHEEX NSFTFC EBHEKX RS RS ES HBRES S
TR AR 82X 1470|#80H 2=(1) 12.23|hiF 2A¥8(1) 11.84[/\iE E3H2) 11.70[BE K@) 1046 K#5 EH1E(©2) 8.75
INFATRER HREXKS FREXHE FREXWS HREXKS FREXHE

GR : KEHnek

=GR : KX AFék




IR -z 2018/1/27 ek HHE B
ks Eer S 44lE AR EE AR i b AT dRk s TleMds  |Falg e BB
Bt i[RI e NN Ra2 th 44 ey T B2 bk
H £+ EH 1AL 2AL RYITA AL 5L 6fL THL 8L
g SHFi6) 8.0 S () 8.1|ILE 3FK(G5) 8.2|@MA HF(3) 84lEmE EAE®G) 8.5 g Fi4) 8.6
N de T \R27H Som THIBT&F FHIBTF FRIBTEF A TEF FRIBTEF FHIET&F
E KRZE6) 8.0 BiE BE0G) 8.5
FEUSTEF HHIBT&F
ot | soom B SFi6) 2:46.4|FTH {KRRZ(6) 2:533[11EF Fik4) 3:05.8|flH HEF(3) 3116|EH TE@ 3:188(BEA WEMX 3:200(@mE TE#() 3:23.4
HAUET&F S TEF FRIBTEF HIBTEF HUSTRF FEIE - S EH /N HHIFT&F
voon | e g 3E6) 1.20|/HE FEFQ) 1.05
THIBT&F HAIETRF
mE ZX02) 6.9 BT EQ 70|F L fEXO) 7.1 P Ex2) 7.2
FE - SR AN - FE=rp BIB-EZNF AU - F L
wesser | igorn | som He EHEQ) 6.9 #e "ﬁ‘%m 7.1 ik KF2) 7.2
dt3E-EEgEH - SEANH Hai- g =rh
TR BAFI(3) 7.2
77O0—XS il
B¥ ama) 2:30.7|E BEQ) 2:30.9( KM F1E®Q) 2:345[:FK £E©) 2:36.3(REE FIE() 2:36.7 £ BHO 2:375[/NE BB 2:385
1a278 | soom FFEE KT Jb3E- 2B e FAUE - IR FE P FAUR - $EIE I S () HFER - AALF BB/ FAUR - 55— op
M FERG) 2:36.7
AU - TR
WA BXEQ) 1.7|%E@ BAFI(3) 19|18 EE®2) 83 &8I EmQ) 88| AN BFRQ2) 9.0|fREE ZFE(2) 9.4
wz7e | somu FEE - g AN GR|77A—XS5 15 GR| B /I Hch HHEE- AP FEE-AAFP AAU - FE L
BT EOQ 8.3 e T80 9.4
- FE=p AU -SE=rp
i20 | BB FiEQ) 1.40| b4t #5(2) 1.20|4k% () 1.10
G- E=rp s - EFE - FRAE
vi2on | Es mE #E) 23068 Zm@) 2.20|F# DCHM) 2.20|SHE &(2) 210|2EF hDA) 2.10|#5AK Bid(1) 2.00
NS - M e XIS - M e FHIE - HAE i[RI NS - M e i[RI
vorn | e WH A#E®2 3.67|HEH EFHE®@ 3.66|&/1l BAF(2) 363\ EAQ 346|RE ER©2) 325|148 I AN0) 3N7|FER EWD 317|# HW) 3.14
Jb3E- e+ dt3%- gt HE - SE AN R AR - SE=rp H3F - X e AR - A AR - 7 L BB-EZNF
waorn | R B BT 9.25[;&R (1) 8.46(1RiE +tiE(2) 8.32|#H BAS(1) 8.01|FRIE #EK(2) 6.96|3E;3 M2 6.93|#T1L FEEQ) 6.77|#E UMB(2) 6.67
dt3E-EEgES BB Ez2AP FFE- AN BB G- E HAUE - IS IE () FFE-AAH Al
e Xk#H HHi®) 6.9|FF FRE(1) 15K BEH(2) 7.9
e e T HSRATR S
r2ra | soom B #HE0) 2:33.7|[EHE R 2:33.9| =1L ZEME2) 2:340|7i# EZEFO) 2:59.8| B8 V(1) 301481 E(2) 3:02.2
FREXWE REXMS HREXWE il = HREXMS HBRes
1H27H | 50mH
v2om | e EH E© 140|=E HmEQ) 1.35
= HREXKS
2o | sk HE RH(Q2) 0|E RO 3.00|iE:2 BHKQ) 2.90(/NEr TERE(D 2.70(lLA FEH=W 2.30
FREXWE GR|talE= GR[{BHKEFE =GR|#al5 S HREXMS
1H27H | EiEwk it *aim 312
HIGHRES
iori | mse ﬁtilji%rf(m 7.14|iE 8% ?.2/:%1(1) 5.19
A FREXKS

GR : KEHrek

=GR : KX AFék




